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IMPORTANT NOTES:

1) Please make sure that you have written your student number and name above.
2) Check that the exam paper contains 6 problems.

3) Show all your work. No points will be given to correct answers without reasonable
work.




1. Evaluate the following integrals ;
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(12 pts.) 2. Find y subject to the given conditions:

V=2, Y(-1)=3, y()=10, y(0)=13
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(-10‘1.)'-53.) 3. Expfess the area of the below shaded region in terms of an integral(or sum
of integrals). DO NOT EVALUATE the integral(s)!
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(12 pts.) 4. Find the area of the region bounded by the z-axis and the curve y = z°Inx
between z = 1 and z = 2. (Note: You do not need to sketch the region!)
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6. Determine the integrals ; 1 cl
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